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Test:Chemistry

Choose the best answer.(8)

1

are called:
a) Irreversible b) Reversible
¢) Nonreactive d) Dynamic

2 Units of K, for the reaction H, + I, =——=2HI
are:
a)mol dm" b)mol ' dm’

¢)moldm” d)No units

reactants and products not equal in balance
chemical equation the units of Kc¢ for this
reactions are:

a) mol” b) dm’
¢)mol’ d)moldm”

4 The meaning of latin word acidus:
a) Sweet b) Tastless
c) Salty d) Sour

5 Malic acid founds in:
a) Apple b) Fats
¢) Rancid butter d) orange

6 Wood contain the amouat of carbon :
a)70% )60~
c)50% d)40%

;

Conversion of dead plants into coal by the
action of bacteria and heat is called:

a) Carbonization b) Catenation
c)Hydrogenation d) Cracking

The process which convert vegetable oil into
Banaspati ghee called:

a) Hydrogenation ~ b) Halogenation

¢) Dehydrohalogenation

d) None of these

© 2022 A product of "ParagonSoft" Gujranwala,Pakistan

Such reactions which continue in both directions i LM Wi iuiuf" Uy ”ﬁ);g o=

a) J’,’:{Jf//l b) %J{’/

DETE d) Es
H,+ I, ——2HI
1t 1Kot
a)mol dm” b)mol 'dm’
c)moldm” d)No units

The reaction in which the number of moles of A'Jwg’ d/uﬁawdkfuﬂ?uﬁu"u’g' S

f{éKCégl&nuﬁi/,l/.)lﬁﬂ}’Lﬂ}{:

Sl w
a)mol” b) dm’
¢)mol dmoldm”
~‘L~.*MKJM’U:UW&%U
e b) Fie

S 7
P

a).,{ b)ﬂ

Ottt D el

e bl A
a)70% b)60% ’
¢)507 d)40#

L’faJ,,iuﬁ)’[gu»{o)/cfﬁ:«/!]/}IL/‘Q
bk
a) ALK b F
DT~ Gaskél DL,

st E FTE G S
D) Gl b) U Gk

Q) S G
d) dei/cuﬁw



